PMT.100

P EEUtE
PA

TOHATSU

RoH3) (sus)

RE

o &xE | #®F | BF WiE| WS
HHE | EE | Ee HH | EE (M |Ee HE| #E
PA %iﬁ; S RIRR pa |m=| PA |SUSI2
F
e
cToT T
o R d d1 L D |l |l|lL|s$S Si|fEN)|BAHE| Eeems g8
i O Raeale T B A BEN) HEFN) () T
PMT.100-51501 5|M10x1.0[ 23 [21 [ 17| 5| 5[12 ] 7|17 6 2300 | 13 |
PMT.100-51502| #24 6 [M12x15( 28 |25 |20| 6| 6 14 9 | 24 10 3500 | 20
PMT.100-51511| &1 8 [M16x15(35 |31 |26| 8] 819 |11 30 18 5500 | 25
PMT.100-51512 10 [M20x15| 3731|3310 | 10| 22 19 | 45 25 7700 | 32| -
PMT.100-51551 5 |M10x10] 23| 21 [ 17| 5| 5] 12 6| 15 6 1800 | 13
PMT.100-51552 | s | 6 [M12x1.5) 28 [25 (20| 6| 6 | 14 | g |21 10 2500 | 20
PMT.100-51561| & 1 8 |M16x15/35 31| 26| 8| 8|19 | 9|26 18 4400 | 25
PMT.100-51562 10 [M20x15| 3731|3310 10] 22 17 | 40 25 6800 | 22
PMT.100-51521 5 |M10x10| 23|21 | 17| 5| s| 12| 16| 7|17 6 2300 | 23| -
PMT.100-51522| #%4 6 [M12x15/ 28 | 25| 20| 6| 6|14 | 19| 9| 24 10 3500 | 33
PMT.100-51531| &2 8 [M16x15( 35 |31 |26 | 8| 8|19 |24 |11 |30 18 5000 | 50
PMT.100-51532 10 [M20x15| 37 |31 |33 |10 | 10|22 30|19 45 25 7700 | 69
PMT.100-51571 5 [M10%10[ 23| 21| 17| 5] 5|12 16| 6|15 6 1800 | 23
PMT.100-51572 | T~5%#5| 6 [M12x1.5/ 28 [ 2520 | 6| 6|14 [ 19| 8| 21 10 2900 | 33| -
PMT.100-51581| =2 8 [M16x1.5| 35 | 31 |26 | 8 19 24| 9|26 18 4400 | 50
PMT.100-51582 10 [M20x15| 37| 31|33 10|10 |22]30]17] 40 25 6800 | 69
[Sp. E=3= EFE TE S zEE [ 1 [%
o ED:{?}’E : %ﬁ[’ﬂ?}% " Eﬁ@ﬂé‘?L’&%H? PMT.100-51501
: gggﬂﬁggig%@gﬁﬁ%#?&@ : E%EC‘%E?&)DIEG%EEAE&S‘?E
o TR AR # T
- BAEAE  EMEE RS R AR T BB FESSNTED) ey B
B (TR s ANARIBEIUE BA BT B =
- AR EMEREE NS ERESR % e
[ EtEEERE SRS \ i /{_F_T‘%
- B BE-30°C~+130°C @Tk i 75 d{}ﬁ S
g U
")



